Mgt ER SR FEHRE (H27.41~6.30) B
1.RATE L 883 A
HNE )= 48 58 68 12~38
INEE 301 A 319 A 263 A 1186 A
HE-EOT - RIRIMAZEFHRE 9 17 22 44
FELE 79 109 35 282
H7x(FRS) 135 106 133 577
(54) (44) (51) (209)
“ZDith 78 87 73 283
2 MR 27 4
HNE A 47 58 68 12~38
INE 3% 14 # 10 38 ¢4
BiEA | Bt BN | B BN | B EigN | Bt
TRSUTATREH L/ F R 11
RS TATEE 4
S n S LEA 1 2 18
i 18 0
- FDOMEERHRE) 3
3EMMEER 5L 0
AR )= 48 5H 6H 12~38
INET 0 # 0 # 0 # 3 &
EEEMRE 1
-FEZ R 2
4ARSTATA—T4H—>ay 12 &
AR A 47 5H 6H 12~3H
INET 145 5 6 6 ¥4
“FRRAT 1 3 2 4
o Ava 2 4 2




52 ESEDRMEKR(SMEL 223 A
HE J=| 48 58 68 12~38
INEE 79 A 109 A 35 A 282 A
BitfER SmEH| FAER SmEHR| FEE SnEH| |FRERS SmER
N EFHAERHE 108 13 8H 12 128 14 - "
24H 15 22H 14 26H 14
R FER (BRMEYR—2—ERERE) 22H 9
n (XZHLDRTERE) 23H 8 6H 4
3[a] 65
208 3
n (EEERSEEEE) 25H 28
-HRERDEEEE (/MOLKY) 20H 17 E 6
n (bEVILERE) 27H 13
CEONVTRBRPE (HIESE . 0=H3/ L4 X1—) | 16H 31
NHIIRSI—FT425 278 11 1= 14
NHUS R LR BRI R 130 17
RIS E 2[g] 47
6.HITMEEIRR 374 A
HE J=| 48 58 68 12~38
INEE 135 A 106 A 133 & 577 ¥4
REH 81 A 62 A 82 A 368 A
RSUTATH 54 A\ 44 A 51 A 209 A
TEHWTOEHLESH 4 5
AR A 48 5H 6H 12~3H
HEEHL 14 0 4 3 4
8IFFE MR D ERFEIRR 228,612 M
RE A 47 5H 6H 12~3H
= H2E 93,443 M 71,840 M 63,329 M 261,967 M




